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٢J١٦אא٢٥٠،
 ١٢٠٠L K א   א ٤א אא א  ،
אK

א٢p=٢    ٦a=٢[wave winding]      Za=٢٥٠      n=١٢٠٠ rpm     Φ=٤ megalines/pole            
Φ=٠٤}٠=١٠�٨* ١٠٦*٤ wb/pole 
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٢J٢٨אא٩٦٠ ،א 
  ٦٠٠L K א א אא א  א٢٢٠א  ،

אK
א٢p=٢    ٨a=٢p[lap winding]      Za=٩٦٠      n=٦٠٠ rpm     Ea=٢٢٠ V                           
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Φ=٠٫٠٢٣=(٩٦٠*٦٠٠)/٦٠*٢٢٠ wb/pole 
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